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[4]1 Among human families with two children in which at least one is known to be a girl, what is the probability that the

other child is a boy? Assume that sex ratio is 1/2. (15 &)

[5] There are two populations: P, and P of a diploid sexual organism. In population P the frequency of allele Ais 0.2.
In population P, the frequency of allele A is 0.8. 10% of the individuals in each population in any generation are

migrants. What is the frequency of allele A in populations Py and P after four generations. (15 /X)



